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= 21,541 21,541 0
= 400,000 0 400,000
Al 207,200 207,200 0
S 2,000,000 0 2,000,000
- 2,135,077 2,104,668 30,409
S2AE FHl - 2el 2,969,140 969, 140 2,000,000
Al 50,000 50,000 0
N 2,000,000 0 2,000,000
T 919,140 919,140 0
CaE 2 A2 2,969, 140 969, 140 2,000,000
Al 50,000 50,000 0
e 2,000,000 0 2,000,000
- 919,140 919,140 0
Z=22 L Estel Zl 2,000,000 0 2,000,000
N 2,000,000 0 2,000,000
401 AIEHI L 2 CHYI 2,000,000 0 2,000,000
e 2,000,000 0 2,000,000
01 A& HI 2,000,000 0 2,000,000
o=z «& E35t3el 4l 1,000,000,000& 1,000,000 0 1,000,000
e 1,000,000 0 1,000,000
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1,000,000, 000& 1,000,000 0 1,000,000
e 1,000,000 0 1,000,000
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= 400,000 0 400,000
Al 150,000 150,000 0
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= 400,000 0 400,000
Al 160,000 160,000 0
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A=Al L& ot=AlE Hl 400,000 400,000
= 400,000 400,000
401 Al HI X 2018 400,000 0 400,000
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= 21,541 21,541 0
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ocZAZE A2 328 03 0 1,500 21,500
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PNESE 29,592 41,162 A 11,570

= 21,541 21,541 0

T 8,051 19,621 A 11,570

201 L4l 29,592 41,162 A 11,570

= 21,541 21,541 0
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